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COMMERCE
(Honours Core)
Paper : COM-HC-6026
(Indirect Tax Laws )
Full Marks : 80
Time : Three hours

The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.
Answer the following questions as directed :
- 1x10=10
PR o=t il emRe Te i 3

(@) VAT is a type of Tax.

(Fill up the blank with appropriate word/
words)

VAT 2 @F 49919 9|
(CYG AT AT 33 959 39)
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(b) was the first country to
introduce Value Added Tax System.
(Fill up the blank with appropriate word/
words)

e g o R e Ko
39 T G e |
(GG =T T A2 979 F91)

(c) Central Excise duty is levied and
collected by :
(Fill up the blank with appropriate word/

words)
GRARIS | SEA ST E ASIRSIEI &)

)2 = | :
(@ W A 22 99 )

(d) Excise duty is a form of direct tax.
(State whether this statement is ‘True’
or ‘False’)

TN W AOF F99 9o ol |
(CfEch) &% (7 T8% G 79)

(e) One of the objectives of the Customs
Act, 1962 is to protect the domestic
industries.

(State whether this statement is ‘True’
or ‘False’)
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AW @& SN2, 1962-9 6! S Carg =l
e efowie o w11
(Clfethr &% (o To% Gl 1)

(/) Prohibited goods cannot be exported.
(State whether this statement is ‘True’
or ‘False’)

Rm A IQiF R si=
(Cfeehl @7 o o1% Ges 7))

(g9 IGST stands for Goods and
Services Tax.
(Fill up the blank with appropriate word)/
words)

IGST z(2 AN T R 9|
(GG *c77es el 12 #4749 F1)

(h) India is the first country in the world
to introduce dual GST. ;
(State whether this statement is ‘True’
or ‘False’) ‘

Sl (202 AR 22w ol R taw AR
U (T 99 e B |
(Cfeehl &% (¥ o1o% e +91)

() At present, there are three tax slabs
under GST for goods.
(State whether this statement is ‘True’
or ‘False’)
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TGN, I @ GST-T T [l F9-2

RS
(Sfeeh! wa @ 91%% O I9)
() {GSTINFisial Shees tdigit alpha-numeric
number.
(Fill up the blank with appropriate word/
words)
‘GSTIN’ (R(R 9b! wTEq AR

ool (@ = et 912 739 1)

2. Answer the following questions : 2x5=10

CSIOR TR R (SIS AU MG R

(a) What is VAT?
VAT & 232

(b) What is the meaning of Factory’ under
the Central Excise Act, 1944 °?
R SIS TR, 1944 -7 ST TR
g 7 232

(c) What is the meaning of ‘Manufacturer’
under the Central Excise Act, 1944 2

(T SRS S5, 1944 -9 TG e -
99 & Zm?
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(d) Write any two objectives of
implementation of GST in India.

CROIRS AN iF Gl T A€ I
RIcRIeN 761 iy o1l |
(e) What is the meaning of ‘Refund’ under

the GST Act?
GST Sz e ‘s eli-3 9 & 372

3. Answer any four questions : S5x4=20

Ricica bifdor exe Ted ol ¢

(@) What do you mean by excisable goods ?

SR ST T I F e 2

(b) Explain the meaning of ‘Anti-dumping
Duty’ as per Customs Law.
-4 e SR, ‘Anti-dumping Duty’-
3 =il il 4|

(c) Describe the various types of tax under
Dual GST.

@S AN S Rl $6-< Tdiee 4 [ied
o[RS 9 A0 U1
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4.

()

(e)

Explain the threshold limits for
registration under the GST Act.

GST W28 S&© 2GR T ({27 AN
G |

Briefly explain the persons who are not
liable to registration under the GST Act.

GST iz & 1© G SR Fepl Afe7mie
B3 I 4 |

Briefly explain the advantages of GST
to the consumers.

TSI @ GST-T JRAPTIR 3 it
BN :

Answer any four questions : 10x4=40

Ricwice bif<Gr 2 Ses o ¢

(@)

(b) -

Briefly describe the history of indirect
taxes in India.

CROINS 2@F T4 20% b 0 1 |

Explain the basis of valuation of
petroleum products for levy of excise
duty.

RGN F @ $98 AR CGIEEETES
smielE sEmReR fofe =y = |
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() Explain the custom procedure for
import of goods in India.

SO 7] ST S AE TN wEEE
Ao R T4 |

(d) Briefly explain the history of
introduction of Goods and Services Tax

in India.
OISTS #/¢l] BT (| 4 261 Bf0Z b3
IR < |

(e) Briefly explain the salient features of
Goods and Services Tax.

AP ST R FE YU @EGES AT T
4

() bExplain the procedure for registration

under the Goods and Services Tax Act.

AN NF CRI T W2 TGO AGRS TG
saie Al T4 |

(g9 Explain any five objectives of
introduction of VAT..

VAT 2R Rl #iet) Sy [ 31 |
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(h) Explain the following terms as per the
Customs Act, 1962. 5x2=10

(1) High Seas
(2) Territorial Waters

TN @ iz, 1962 TR ©ere WAl SR
T T4 3

(1) T% A
2) xR T
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